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Warm Up Grade 8
May. 8, 2017

Probability is the chance of an event happening. It can be given as a
fraction or as a percent.
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Experimental Probability: the probability of an event calculated

from experimental results.
-do out

A
Theoretical Probability: the number of favourable outcomes

written as a fraction of the total number of
possible outcomes.

P(of Event) _# of favourable outcomes
# of possible outcomes
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Theoretical Probability

Is what we will be
concentrating on ‘=

A

What is the probability of landing on Green?
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Using a tree diagram and list ALL the possible outcomes of

spinning the Qginter on this spinner and tossing ONE two-
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c) What is the probability of landing on F and tossing red?
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Inde'endent Events: the outcome of one event has no effect on
the outcome of another.

Ex: Tossing a coin and rolling a 5 on a die

e N
De%endent Events: the outcome of the second event is affected

by the first.

Ex: Selecting a heart from a deck of cards, not replacing
the card, and then selecting another heart.
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A)Use a Tree Diagram to find all the outcomes of tossing two coins. )
B) What is the probability of tossing 1 head and 1 tail? (ord<r cl°<>'\°*"‘""
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Use a tree diagram to determine the outcomes for
tossing a coin and rolling a tetrahedron labelled 1 to 4.

What is the probability of tossing tales and rolling an
even number?

OUN (omRS
Cown

\ h\
9.3 ‘_‘ 'L

H é‘i > 4

H ‘1 O\N“Comcs
T 1
/‘ T2 X%

T . T3




gr 8 u7 dm day 4 prob ind events.notebook May 08, 2017

?(L&l\$ and E\Ch) P((’M\S\ A ? gvu»

ﬁ o4 eV NAMBSS

:H'D-F*N‘) X onk¥ean
T ke e
<X 3

&\)&K M T

CEa ond _ )

5 2 X L

&
dw
= i‘ K . N
7 i



gr 8 u7 dm day 4 prob ind events.notebook May 08, 2017

» dSS/HOILIEW
PO A S < R X R

{A pot®
i:ﬁ:f X ToN0

Page 411 #3, #4, #5



gr 8 u7 dm day 4 prob ind events.notebook May 08, 2017

Lisk ovwdesmes
LD SQ;\-\ S22 a_)__.,__———@ a@
a2 A
SO
: Q) g & AW &
sQ 290
P\
b 50 959

= S
R 2V

g $ AL
30 R,
~ . 8

'P((SD-\\'\ Cards Rec\) =T

(Rj:mc\ fea) = ?((QJ X PCe 1\4}

/1
viv

d Yok
Ko o E{‘Q‘o")__

v

v
c E Cnd é\;(h)
) P n o

9
P(Ewn) X P (Ever)

2 N
3 3
L|

—

1

3



gr 8 u7 dm day 4 prob ind events.notebook May 08, 2017

Have the stud nts do the Investigate pg. 407
Use this to review Tree Diagrams and Charts
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Probability

Probability is the chance of an event happening. It can be given as a
fraction or as a percent.

Impgssible Unlikgly Equally Likely Likely Certajn
a | | | |
1/4 12 3/4 1

Theoretical Probability is when you calculate the probability using the number of
favorable outcomes and the number of possible outcomes.
Theoretical Probability = Number of Favorable Outcomes
Number of Possible Outcomes
Prob (rolling a 6 on a die) = 1/6

Experimental Probability is when you do an experiment to determine the probability.
With experimental probability, you would roll the die 20 times and see how many
times you roll a 6.

You can use a chart or a tree diagram to help you figure out the number of possible

outcomes. .
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Two events are Independent events when one event does not affect the other.

Independent Events

For example the probability of rolling a 6 is 1/6
the probability of flipping a head is 1/2
What is the probability of rolling a 6 and flipping a head?

Die Coin
H
T

oF-

e)--

HZ H=Z

ML AL

Prob (6) =1/6

1 x 1 =1
6 2 12

Outcomes
1H
1T

2H
2T

3H
3T

4H
4T

SH
ST

6H
6T

Prob (H)=1/2 Prob( 6 and H) = 1/12

It is often written as: P(A and B) = P(A) x P(B)

So in the example above, the Prob(6 and Head) = Prob(6) x Prob (head)

=1 x 1
6 2
=1
12

Discuss Examples 1 and 2 on pages 408-410

Homework pg .410 #1-6 (maybe 1-9, depending on time)
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